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S584—3%8 A-1 XINTEDIRTHRULUEZL),

(1 039 = o ©» 021 = o, “» 033 = %
2> 0.77 = o 2 0.63 = o “» 0.38 = %
3 0.86 = o @ 0.98 = o @ 0.71 = %
(4 0.39 = o 0 074 = o 40 093 = %
s 0.11 = o @ 0.60 = o 4 0.62 = %
(6) 092 = o @ 092 = o @ 0.74 = %
(7 0.83 = o @ 0.56 = o “» 02 = %
8 0.0 = o @ 002 = o, “® 0.03 = %
9 0.97 = o 0 044 = o “» 087 = %
ao 0.04 = o 0 095 = o @ 0.92 = %
an 054 = o, @0 051 = o, 0 0.54 = %
a2 0.35 = o @ 0.28 = o 2 0.28 = %
a3 0.68 = o 0.99 = o 0.9/ = %
a9 041 = o @ 098 = o 0 031 = %
a5 0.26 = o @ 0.34 = o @ 0.74 = %
e 0.98 = o, @ 035 = o, @ 021 = %
an Q.7 = o @1 0.96 = o, &1 045 = %
as 0.87 = o @ 042 = o @ 0.99 = %
a9 0.0 = o 7 0.5 = o ©” 0.98 = %
e 0.65 = o “ 03 = o, @ 087 = %
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@3N
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21 %
81 %
40 %
42 %
22 %
65 %
58 %
4 %
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(1)

(3)

(5)

(4)

(5)

(6)

(7)

(8)

()

5435 A-3

20 gld. 50 g%

— %
26 mid, 65 Mm%

— %
18 gld. 24 g%

— %
26 A, 950 A%

= %
6mlz., 30mdD[1%

— %
2 HiZ., 50 HDO %

— %
11 gld, 55 g%
[]= %
16 M. 32 HoO%
[(]= %
12 M2, 80 HoO%
[(]= %
4 M2, 50 HoO%
[(]= %

oV ot ¢}

(20)

6 miz, 24 moOd%
= %

b6 miz, 70 md %
[]= %
16 AL, 40 A%
— %

34 gla. 68 g%
— %
46 Mz, 92 Ho%
[]= %
b2 Ald, 80 A%
[(]= %
66 A, 88 AD[%
[]= %
24 M3, 48 HoO%
(] = %
19 mild, 20 M 1%
(1= %
42 A3, 60 A%
[]= %
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SEE—EIS

(H 26md b6 % 2. Um

(3)

(5)

(4)

(5)

(6)

(7)

(8)

()

[]=

62 g 50 % 12, [g

[]=

m

g

75 AD 44 %L, LA

[ =

A

20 AD 4 B4, LA

[]=

A

55 Hd 20 %14, [IH

[]=

M

40 Ho 5 %lx. [IH

[]=

M

85 md 40 %12, [m

[]=

m

30 A 80 %4, LA

[ =

A

15 Hd 80 %2, [IH

[]=

M

a 20 H? 65 %Bla, LA

[]=

M

oV ot ¢}

(20

60 M 5 %L, [1H

=

20 AD 82 %L, LA

[]=

A

T5 md 12 %z, Om

[]=

mZ

20md 15 % 12, Tm

[ =

m

60 Mo 35 %14, [IH

[ =

M

75 FHD 68 %4, [1H

[ =

=

30 m?d 60 %4, Lm

[]=

m

80 Mo 75 %1, Im

[]=

mZ

o5 Ho 40 %12, [IH

[ =

M

48 A 60 %12, LA

[ =

A
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S < APl

%
5ELE—EE AS
(69 mix, LImd 92 % an 44 mid, Cmd 88 %
(1= % (1= %
@ 16 Mz, LHD 64 % 2 42 mid, CIma b6 %
(1= % (1= %
5) 24 mlx, LImdD 48 % an 17 mid, Omd 20 %
(1= % (1= %
(4 26 gld, Llg?d 52 % an 24 Mz, LJHD 32 %
(1= % (1= %
s 2mid, Omd 8 % 5 22 mld, Lm? 55 %
(1= % (1= %
) 36 mid, LIm?d 50 % ao 19 gld, Lgd 95 %
1= % (1= %
14 mid, Omod 70 % an 23 mid, CIma 50 %
(1= % (1= %
@ 7 mid, LIma 70 % aw 4 AL, LJAD O %
(1= % (1= %
@ 1T iz, Omd 20 % a» 32 Mz, OHD 64 %
(1= % = %
a 63 Mz, LMD 90 % co 4 mid, CImd 8 %
(1= % = %
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BEE—EE A6

(H 1100 Hoo 9 3] =12, N
1= =

(3) 3800 Mo 4 g5 =12, H
1= =

(5> 900 Hoo 4 &5 =12, LM
1= =

(4 4900 Ho 4 23] =2, LA
1= =

(5) 500 Mo 1 &3] =14, OOH
1= =

() 200 Hoo 1 &3] =14, LH
(1= =

(1) 2400 Moo 7 g5 =12, A
1= =

(&) 1600 H» 2 €531 =12, OOH
1= =

(o) 4700 H 1 €531 =12, OH
1= =

0 400 Ho 4 Z|5] =12, LM
1= =

D 94 ¥

20

100 Ho 2 &31 =12, LA
(1= M
3000 Ho 8 &5 =14, [H
(1= M
2200 Hoo 7 &3] =14, JH
(1= M
2800 Mo b 51 =11, LN
1= M
2200 Hoo 3 &3] =14, N
(1= M
1800 Mo 2 &3] =11, OH
(1= M
2300 Ho 6 &3] =14, M
(1= M
2200 Ho 9 &3] =14, H
(1= M
3000 Ho> 9 &3] =12, LIH

3100 Ho 3 &3] =12, LIH
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